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QUESTION 1

A member of a data sharing group is suffering from elongated response times. You suspect that sysplex workload
balancing (WLB) is not working properly for the DDF work (not evenly distributing the work among the different
members). 

What is the simplest way to verify how the DDF threads are distributed amongst the different members? 

A. Execute the-DIS GROUP command. 

B. Execute the -DIS DDF DETAIL command on each member. 

C. Execute the -DIS THDO DETAIL SCOPE(GROUP) command. 

D. Executed the -DIS LOCATION(\\') DETAIL command on each member. 

Correct Answer: B 

 

QUESTION 2

You wish to set the maximum allocation of sort storage to 5000 kilobytes for a query that contains an ORDER BY
clause. 

Which action will accomplish this? 

A. Set subsystem parameter MAXRBLK to 5000. 

B. Set subsystem parameter MAXSORTJNJV1EMORY to 5000. 

C. Issue command-ALTER BUFFERPOOL(BP7) VPSIZE(5000). 

D. DB2 does not allow for user control of this maximum allocation. 

Correct Answer: B 

 

QUESTION 3

Which copy operation CANNOT be performed by DSN1COPY? 

A. DB2 concurrent copies to DB2 VSAM data sets. 

B. DB2 image copy data sets to DB2 VSAM data sets. 

C. DB2 VSAM data sets to other DB2 VSAM data sets. 

D. DSN1COPY sequential data sets to other sequential data sets. 

Correct Answer: A 
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QUESTION 4

Which subsystem parameter setting allows connection queuing? 

A. IDTHTOIN>0 

B. CONDBAT>0 

C. POOLINAC>0 

D. MAXCONGN > 0 

Correct Answer: D 

 

QUESTION 5

A column mask is defined on TB_A. Which statement runs successfully? 

A. SELECT \\' FROM TB_A UNION ALL SELECT \\' FROM TB_B 

B. SELECT \\' FROM TB_A INTERSECT SELECT * FROM TB_B 

C. SELECT \\' FROM TB_A EXCEPT ALL SELECT \\' FROM TB_B 

D. SELECT\\'FROM TB A INTERSECT ALL SELECT * FROM TB B 

Correct Answer: A 
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